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That he does not leave with the tips of his limbs like a slave

Overview

The X713 cites a Xn»72, which expounds the 105 of XX 1932 K2’ 1913,1 to mean that
NX” 19132 0121 19132, and X217 explained that to mean that an °72¥ 72V is not freed if his
master destroyed his 2°72% *wx1.> Our moon explains why we would have assumed
that an ¥"¥ 1s 072K *WXM2 XX, so that we need a P09 to exclude it.
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For it would have entered our minds that an ¥"V should certainly be freed
through 0°72X *wXA, since the ¥"V is not worse than an 2"y, who is not freed

through %2y ,2w, or no> 1w, and he serves the daughter of his master -
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And nevertheless is freed through 252K WK, so an v"y who is Nw1321 %2m wwa Ry
no> and does not serve the daughter of his master should certainly be freed through o™X *wxn,’
therefore the 2109 of 21 X2 1922 teaches us that the ¥"V is not 012K *WXI2 RXY.

Summary
Without the m105 we would assume that an ¥"V is 072X *wX72 XX, through a 1"p

from 2"Y who is not 121 21" wwa XX as an Y'Y is.

Thinking it over
Previously (X,10) the X3 derived from 0°72v77 NR¥D X¥N X9 (mentioned shortly in

our X723 here) that an 7°72y7 72K is not 22X “WRI2 NXRXY. Why did not nmsoin
explain there why would we think that she is 2*1ax *w&72 x¥1°?°
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* The rule by an *319> 72y is that if his master blinds him or knocks out his tooth (or any other of the 22 *wx 7"3),
the slave is freed (12-13,X2 [2°vawn] MnY); however by an ¥"v, the master has to pay the 72v for the damage done, but
he still remains an ¥"y.

? An ¥"y serves his master for six years and then he is freed, however an 2"V is required to work forever.

*If %2v occurs before six years of servitude the ¥"v is freed, however the "y must continue to serve even after 72av.

> An v"v can redeem himself by paying back the master (pro rate) the money which he paid for the ¥"v (even if the
master disagrees), however an 3"y cannot be redeemed by giving the master money if the master refuses.

® An ¥"y must serve the master’s son (if the master died during the six years), but he need not serve the master’s
daughter, however an 3"y must serve (not only the son but even) the daughter.

7 An ¥"y is more easily freed than an 2", therefore we should assume that whatever frees an 2"y should certainly
free an ¥"v.

¥ See X"wImn.
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